3A.6 - Polynomial Characteristics Test Review Name: %/7

GSE Algebra i Date:

I. Answer each of the following questions for the graph (estimate the zeroes):
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2. Sketch the graph by hand given that the zeroes are -3, -1, and 2. Then, answer each of the
following questions for the graph.  f(x)=x*+2x*-5x-6 ‘
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3. Determine the end behavior and maximum number of extrema (u-turns): ’
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4. Determine if the function is even, odd, or neither:
a) f(x):x3—5x" b) f(x)=2x2+4x'.—6t><°
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5. State the range & # of zeros for each of the following polynomials
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b) h(x)=3x*+4x-7
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6. State the sign of the leading coefficient & the
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if the degree is even or odd:
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7. True or False:

a) The domain of a polynomial function is always (—oo,oo). Ir e

b) The range of a quadratic polynomial function is always (—oo,oo). r@ /56/ ‘

c) Cubic polynomials never have an absolute minimum or maximum. _ [/ ve /\j

d) For a polynomial, it is possible to have a reldﬂve max and an absolute max. [ ve m

Solve the following polynomial inequalities: (final answers in interval notation)

8.(x3—3x €x+ <0
- 3) - 1(x=3) L0
(x-3)(5*-1) <0
(/>‘<'~33(‘><«M\(>(~i) L0

><‘43)“")}

9. x> —x*>12x
'xswyzvhb(z()
NACRSVEN R D Xe
> (f>(~H)(y+j}_20

EOO)"BUU»BX
10. 64x* -81>0

( v@.& 4"(3 (gx :»CI) )
=15

[ S
- (207500 (%, 0

f[’mj 0L Y )
11. 3x* +x-24<0

(35=%) (x +3)

}~E 3) (%j




